
Subject: Re: Color Table
Posted by Nikola on Wed, 18 Aug 2010 12:44:20 GMT
View Forum Message <> Reply to Message

The specified values are not equidistant, so the correct solution is:

r= interpol([0,100,120,20,0,50], [0, 28, 46, 89, 153, 255],
findgen(256))
g= interpol([0,30,20,20,200,220], [0, 28, 46, 89, 153, 255],
findgen(256))
b= interpol([0,150,40,255,230,50], [0, 28, 46, 89, 153, 255],
findgen(256))
tvlct,r,g,b

Cheers,
Nikola

Page 1 of 1 ---- Generated from comp.lang.idl-pvwave archive

http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=6967
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=5687&goto=72178#msg_72178
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=72178
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

